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A: Choose the correct answer:

1-l1 can't see [ someone —no one — anything ] here . It is dark .

2-There is [ no one —anything - nothing ] to be worried about .

3-[ someone —anything — nothing ] was injured in the accident .

4-He called 3 times , but [ someone - nothing — no one ] answered the phone .
5-1 didn't buy the new shoes [ and - because - but ] I didn't have any money.
6-She went to the hospital [ but - because - so ] she was sick.

7-He didn’t study [ so - because - but ] he failed the history exam.

8-1 don't like mushrooms. [Neither do I. - So do I. - Neither did I.]

O-There [ are - was - were ] five people at the show last week.

10-There [ is - was - were ] abook on the table yesterday.

B- Do as shown between brackets:

1-(Correct)

a-I'm not tired right now. So am I.
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b-There were a party last night.

2- wrote \ Amal \ 2 days \ a test \ ago ( Reorder)

A. Choose the correct word :
1-T can [ Put - ride - hit ] a bicycle.

2- The [ accident - traffic light - police officer ] turned green.




B- Match words with pictures:

1. happy 2.angry — 3.sad - 4.surprised - 5.scared - 6.Sleepy 7.nervous

4.accident - 5.injured

C. Match words in (A) with (B):
A

1- passenge ( )aperson who sees an event happening

2- insurance. ( ) apersonwhois travelling
3- witness. (  )Where two road cross

4- instruction ( ) youpaymoneytoacompany

Fill in the missing letters:

1- angr_y. (e -p-g)
2- w_rried. (s -o0-e)

3- b__sy. (u-d-m)

buijjadg

cr__sh. (o-a-r)

Good luck, Batool Al-kulaib




